Bill of Material

No. Plan Article Quantity
1 M8 DIN985 1996213 1
2 X002133 1992424 4
3 X003692 1998763 4
4 X004452 1904058 4
5 X004606 1905091 (39/44/48) 2

X004607 1905092 (42/46/50) 2

6 X004620 1905090 2
7 P00023336 2639354 (39) 1
P00023305 2639554 (42) 1
P00023279 2638154 (44) 1
P00023307 2639754 (46) 1
P00023309 2639954 (48) 1
P00023311 2640154 (50) 1

8 P00023337 2639454 (39) 1
P00023306 2639654 (42) 1
P00023280 2638254 (44) 1
P00023308 2639854 (46) 1
P00023310 2640054 (48) 1
P00023312 2640254 (50) 1

9 3,9x9,5 DIN7981 2992349 4
10 M8 DIN126 1996214 2
11 M4 DIN985 2994901 4
12 M6 DIN985 2994063 6
13 M6x40 1ISO7380 2994066 4
14 M6x50 DIN912 2995258 2
15 M8x105 DIN912 2997555 1
16 M4x16 2995260 4

Plan No.
CROSS / V500 ACTIVE 00s016aBT ]
Scale: 1.5 Drafted Verified Confirmed

Date

1/09/2021

11/01/2023

11/01/2023

Initials

PM

AS

\V
W
VERMEIREN

000,




